Incorrect Division Homework by Harrison
In the following questions, try and work out why Harrison was wrong in working out his answers.  What should he have done to work out the correct answers?

1. A sweet jar contains 60 lollipops.  All the lollipops are shared between 10 people.  How many lollipops does each person get?

60 – 10 = 50 

50 – 10 = 40

40 – 10 = 30 

30 – 10 = 20

20 – 10 = 10

Harrison’s Answer: Each person got 5 lollipops.
2. A steam train is allowed to carry 45 passengers.  It has 5 carriages.  How many passengers can sit in a carriage?

45 x 5 = 225

Harrison’s answer: 225 passengers can sit in a carriage.

3. Every day the school canteen makes 8 kilograms of pasta.  They store it in large containers that can only hold 2 kilograms of pasta.  How many containers do they need to use in total?

8 ÷ 2 = 3

Harrison’s answer: 3 containers are needed in total.
4. Naomi and her sister Obe were making their name bracelets.  Each one of them was given 15 beads to make their name bracelets.  How many bracelets did Naomi make and how many bracelets did Obe make?

15 ÷ 2 = 7 remainder 1

Harrison’s answer: They made 7 bracelets.

